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&2 | Ef M B EROBE | o Zof
53581 | T701% Bk JElgE T EE 7.6 |—
53582 | 10% Lgis JERE T BEIE 7.6 |—
53583 | 601X i JERE T PEEE 7.6 |—
53584 601X B Jeli T BESE 7.6 —
53585 | 101% PEL s JERE T PEEE 7.6 |—
53586 601X B Jeli T BESE 7.6 —
53587 | 504X Lt JER T BRIE 7.6 |—
53588 | 701k B JEIRF T FEE 7.6 |—
53589 | 50f%; Lt JER T ERIE 7.6 |—
53590 | 601% B JEIRF T FEE 7.6 |—
53591 | 60f%; Lt JER T BEIE 7.6 |—
53592 | 504K Lt JEIRF T BRIE 7.6 |—
53593 | 501% Tk JEIRFTH FEE 7.6 |—
53594 | 504K Lt JEIRF T BRIE 7.6 |—
53595 | 301% Tk JEIRFT FEE 7.6 |—
53596 ;g{ﬁ Lt JEIRF T BRIE 7.6 |—
53597 | 201% g JER T BE 7.6 |—
53598 | 201% ik JEIRFTH FEE 7.6 |—
53599 | T701% Bk JEIRF T FEE 7.6 |—
53600 | 60f% Bk Je W BT 7.6 |—
53601 | 501% Bk JEIRF T FEE 7.6 |—
53602 50K ik = BEE 7.7 —
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53603 | 101% Bk Gt EE 7.6 |—
53604 301K ik = BEE 7.6 —
53605 | 301% PEL s JERE T PEEE 7.6 |—
53606 | 201% Lgis JERE T BEIE 7.6 |—
53607 | 401X PEL s JERE T PEEE 7.6 |—
53608 ;gfé Bk JERE T BEIE 7.6 |—
53609 | 201% PEL s JERE T PEEE 7.6 |—
53610 | 201% B JEIRF T BSE 7.6 |—
53611 | 104%; 2 JER T BEIE 7.6 |—
53612 | 301% B JEIRF T BSE 7.6 |—
53613 | 201% Bt JERE T BEEE 7.6 |—
53614 | 301% B JEIRF T BIE 7.6 |—
53615 | 40f%; 2 JERF T BEIE 7.6 |—
53616 | 401% Tk JEIRFT FEE 7.6 |—
53617 | 30f% 2 JEIRF T BRIE 7.6 |—
53618 | 101% Lk JEIRFTH FEE 7.7 | —
53619 | 201% Bk It BEEE 7.6 |—
53620 | 301% e JEIRFTH FEE 7.6 |—
53621 | 40f% Bk Je W BT 7.6 |—
53622 | 101% Mk JEIRFTH FEE 7.6 |—
53623 | 10f% Bk Je W BT 7.6 |—
53624 | 401% ik JEIRF T HEE 7.6 |—
53625 | 10f% Bk Je Mt BT 7.6 |—
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53626 | 401% ik Gt EE 7.6
53627 10X ik = BEE 7.6
53628 ;g;’fé PEL s JERE T PEEE 7.6
53629 | 301% Lgis JERE T BEIE 7.6
53630 | 301% i JERE T PEEE 7.6
53631 701X B Jeli T ESE 7.7
53632 | 501% i JERE T PEEE 7.6
53633 | 601% LY JEIRF T FEE 7.6
53634 | 601X Bt JERE T BEEE 7.6
53635 | 501% B JEIRF T FEE 7.7
53636 | 50f%; 2 JER T BRIE 7.7
53637 | 501% B JEIRF T FEE 7.7
53638 | 10f%; 2 JERF T BEIE 7.6
53639 | 301% Lk JEIRFT FEE 7.6
53640 ;gfé Bk JERE T BEEE 7.6
53641 ;gﬁ Lk JEIRFTH FEE 7.6
53642 | 20f%; 2 JEIRF T BRIE 7.6
53643 | 301% e JEIRFTH FEE 7.6
53644 | 20f% Bk Je W BAE 7.6
53645 | 201% Bk JEIRFTH FEE 7.6
53646 401X Qi JelRF T BESE 7.6
53647 | 201% Bk JEIRF T HEE 7.6
53648 | 30f% Bk Je Mt BAE 7.6
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53649 | 201% ik Gt EE 7.6
53650 | 20f% Bk Je Mt BAE 7.6
53651 | 201% i JERE T PEEE 7.6
53652 | 30% Lgis JERE T BEIE 7.6
53653 | 101% PEL s JERE T PEEE 7.6
53654 201X B Jeli T ESE 7.4
53655 | 301% i JERE T PEEE 7.6
53656 | 301% B JEIRF T FEE 7.7
53657 | 30f% 2 JER T BEIE 7.6
53658 | 301% LY JEIRF T FEE 7.6
53659 ;g;’?’bz 2 JER T BRIE 7.7
53660 | 401t Lg i JEIRF T FEE 7.7
53661 101X Bk It BEEE 7.6
53662 | 10% Tk JEIRFT FEE 7.7
53663 | 30f% 2 JEIRF T BRIE 7.7
53664 ;gﬁ Tk JEIRFTH FEE 7.7
53665 ;gfé 2 JEIRF T BRIE 7.7
53666 | 101% e JEIRFTH FEE 7.7
53667 | 10f% Bk Je W BAE 7.7
53668 | 201% Bk JEIRFTH FEE 7.6
53669 50K Qi JelRF T BESE 7.6
53670 | 501% Bk JEIRF T HEE 7.6
53671 | 10f% Bk Je Mt BAE 7.6
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53672 | 401% ik Gt EE 7.6 |—
53673 | 30f% Bk Je Mt BT 7.6 |—
53674 | 101% i JERE T PEEE 7.6 |—
53675 4018 B Jeli T ESE 7.7 —
53676 | 201% i JERE T PEEE 7.6 |—
53677 301X B Jeli T ESE 7.6 —
53678 | 101% i JERE T PEEE 7.6 |—
53679 | 401t LY JEIRF T BSE 7.6 |—
53680 | 101% 2 JER T BEIE 7.6 |—
53681 10f% B JEIRF T BSE 7.6 |—
53682 | 201% Bt JERE T BEEE 7.7 | —
53683 | 401t B JEIRF T BIE 7.6 |—
53684 | 401X Bk It BEEE 7.6 |—
53685 ;gﬁ Tk JEIRFT FEE 7.6 |—
53686 | 101% Bk JERE T BEEE 7.6 |—
53687 | 201% g JEIRFTH BEE 7.4 |PRETIIERE A
53688 | 401% Bk It BEEE 7.6 |—
53689 ;g?’bz e JEIRFTH FEE 7.6 |—
53690 401X Qi JelRF T BESE 7.7 —
53691 | 601% Mk JEIRFTH FEE 7.7 |—
53692 | 60f% Bk Je W BT 7.7 |—
53693 | 101% Bk JEIRF T HEE 7.7 |—
53694 201X ik = BEE 7.7 —
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53695 | 201% Bk Gt EE 7.7 |—

53696 10X ik = BEE 7.7 —

53697 | 101% i JERE T PEEE 7.7 |—

53698 | 10f% Lotk EVG] B 7.6 |BERUERE
53699 | 201% i CCRNIT) PEEE 7.7 |—

53700 301X B pN i) ESE 7.7 —

53701 | 201% i PN PEEE 7.6 |—

53702 | 401% B N BSE 7.6 |—

53703 | 20f% Bk B ATt HBAE 7.6 |—

53704 | 501% B JEIRF T BSE 7.7 |—

53705 | 104% 2 JER T BRIE 7.7 |-

53706 | 201% Lg i JEIRF T BIE 7.7 |—

53707 | 201% Bk It BEEE 7.7 | —

53708 | 301% Tk JEIRFT FEE 7.7 | —

53709 | 104% 2 JEIRF T BRIE 7.7 |-

53710 | 101% Tk JEIRFTH BRIE 7.5 |—

53711 | 20% Bk It HESE 7.6 | JRERGER A
53712 | 301% Tk JEIRFTH FEE 7.6 | RBRIFFEZHT 2~
53713 | 301% M JEgF T PEEE 7.6 | RBRUMIHEE T 2
53714 | 401% Mk JEIRFTH FEE 7.7 |—

53715 | 20f% Bk Je W BT 7.6 |—

53716 | 301% Tk JEIRF T HEE 7.6 | RBRIFFEZHT 2~
53717 | 601K B JERE T PEEE 7.6 | RERFFEFRFE A
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53718 | 401% ik Gt EE 7.5 |—
53719 | 30f% Bk Je Mt BT 7.7 |-
53720 | 301% PEL s JERE T PEEE 7.7 |—
53721 | 20f% Lgis JERE T BEIE 7.7 —
53722 ;g;’fé PEL s JERE T HEREIR 7.7 |-
53723 ;gfé ik JERE T BEIE 7.6 |—
53724 | 301% i JERE T PEEE 7.6 |—
53725 | 501% B JEIRF T BSE 7.7 |—
53726 | 101% Bt JERE T BEEE 7.7 | —
53727 | 101% B JEIRF T BSE 7.6 |—
53728 | 701X Bt JERE T A E 7.7 | —
53729 | 501% B JEIRF T BIE 7.7 |—
53730 | 30f% Lt JERF T HESER 7.6 | KBRUMIEE T 2
53731 | 601% Lk JEIRFT FEE 7.7 | —
53732 | 201% Bk JERE T BEEE 7.6 |—
53733 | 101% Tk JEIRFTH FEE 7.6 |—
53734 | 504K Lt JEIRF T BRIE (RPN T 537
53735 | 301% Mk JEIRFTH FEE 7.6 |—
53736 10X Qi JelRF T BESE 7.7 —
53737 | 401K Bk JEIRFTH FEE 7.7 |—
53738 401X Qi JelRF T BESE 7.7 —
53739 | 501% Bk JEIRF T A E 7.7 |—
53740 | 50fR Bk Je Mt BT 7.7 |-
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53741 104X Bk Gt EE 7.7 |—
53742 301K ik = BEE 7.7 —
53743 | 101% i JERE T PEEE 7.7 |—
53744 | 50X Lgis JERE T BEIE 7.7 |—
53745 | 301% i JERE T PEEE 7.7 |—
53746 | 30f% Lgis JERE T BEIE 7.7 |—
53747 | 201X i JERE T PEEE 7.7 |—
53748 | 201% LY JEIRF T FEE 7.7 |—
53749 | 501X Bt JERE T BEEE 7.7 | —
53750 | 401% LY JEIRF T FEE 7.7 |—
53751 ;g;’?’bz Bt JERE T BEEE 7.7 | —
53752 | 101% Lg i JEIRF T BIE 7.7 |—
53753 | 104% 2 JERF T A E 7.7 |-
53754 ;gﬁ Tk JEIRFT BRIE 7.7 | —
53755 | 201% Bk JERE T BEEE 7.7 | —
53756 | 401% Lk JEIRFTH FEE 7.7 | —
53757 | 104%; 2 JEIRF T BRIE 7.7 |-
53758 | 101% Mk JEIRFTH FEE 7.7 |—
53759 601X Qi JelRF T BESE 7.6 —
53760 | 301% Mk JEIRFTH FEE 7.6 |—
03761 50K Qi JelRF T BESE 7.7 —
53762 ;g?’bz Bk JEIRF T HEE 7.6 |—
53763 | 30f% Bk Je Mt BT 7.6 |—
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&2 | £f M B EROBE | o Zoft
53764 | 101X Bk Gt EE 7.6
53765 301K ik = BEE 7.6
53766 | 401X i JERE T PEEE 7.6
53767 | 401X Lgis JERE T BEIE 7.7
53768 | 401X i JERE T PEEE 7.7
53769 1018 B Jeli T ESE 7.7
53770 | 101% PEL s JERE T PEEE 7.7
53771 | 401X B JEIRF T FEE 7.7
53772 ;g;’?’bz Bt JERE T BEEE 7.7
53773 | 101% LY JEIRF T FEE 7.7
53774 | 40f% 2 JER T BRIE 7.7
53775 | 301% Lg i JEIRF T FEE 7.7
53776 | 101% Bk It BEEE 7.7
53777 ;gﬁ Lk JEIRFT FEE 7.7
53778 | 104% Bk JERE T BEEE 7.7
53779 | 101% Tk JEIRFTH FEE 7.7
53780 ;gfé 2 JEIRF T BRIE 7.7
53781 | 401% Mk JEIRFTH FEE 7.7
53782 ;gfé BE It PEEE 7.7
53783 | 101% Bk JEIRFTH FEE 7.7
53784 ;gfé B It PEEE 7.6
53785 | 201% ik JEIRF T HEE 7.7
53786 201X ik = BEE 7.7
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53787 | 301% Bk Gt EE 7.7 |—

53788 10X ik = BEE 7.7 —

53789 | 101% i JERE T PEEE 7.7 |—

53790 | 10% Lgis JERE T BEIE 7.7 |—

53791 ;g;’fé PEL s JERE T PEEE 7.7 BREUERSE
53792 | 30% Lgis JERE T BEIE 7.7 |—

53793 ;g;’fé i JERE T PEEE 7.7 |—

53794 | 201% B JEIRF T FEE 7.7 |—

53795 | 40f%; 2 JER T BEIE 7.7 |—

53796 | 401t B JEIRF T FEE 7.7 |—

53797 | 204% 2 JER T BRIE 7.7 |-

53798 | 301% Lg i JEIRF T FEE 7.7 |—

53799 | 501K Bk It BEEE 7.7 | —

53800 ;gﬁ Lk JEIRFT FEE 7.7 | —

53801 | 10f% 2 JEIRF T BRIE 7.7 |-

53802 | 10f% Lk JEIRFTH FEE 7.7 | —

53803 | 20f% 2 JEIRF T BRIE 7.7 |-

53804 | 801% e JEIRFTH A E 7.7 |—

53805 20X Qi JelRF T BESE 7.7 —

53806 | 201% Mk JEIRFTH FEE 7.7 |—

53807 | 501K B JEIRFT HERER 7.7 R R A
53808 | 801% ik JEIRF T HEE 7.5 |—

53809 | 80ft Bk Je Mt BT 7.5 |—
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53810 | 601X ik Gt HERER 7.6
53811 201X ik = HESER 7.6
53812 | 401% i JERE T PEEE 7.6
53813 601X B Jeli T HERE AR .7
53814 | 501X PEL s JERE T PEEE 7.7
53815 | 70f% Lgis JERE T BEIE 7.7
53816 | 501% i JERE T PEEE 7.7
53817 | 501% B JEIRF T BSE 7.7
53818 | 601X Bt JERE T BEEE 7.7
53819 | 601% LY JEIRF T BSE 7.7
53820 | 601% 2 JER T BRIE 7.7
53821 | 301% B S BIE 7.7
53822 | 201% Bk It BEEE 7.5
53823 | 301% Lk JEIRFT FEE 7.7
53824 | 201% 2 JEIRF T BRIE 7.6
53825 | 301% Lk JEIRFTH FEE 7.6
53826 | 301% Bk It BEEE 7.7
53827 | 801% Mk JEIRFTH FEE 7.7




